o] M%2] & A7

L
= g

A 47)

@ 571 ® 671

® 87

@ 474
@ 74



? (A 27H)

B
|
™~

k-

oy
S
o|l

ol

@ Z+e] 2717t 90° o]t

2 Ztole}.

@ 90° Kot 331 180° K}
® Zte] 47171 180° ol

¥
@ 0° Hr} 337 90° Hr}



3. O 1//m 017] 1% 2 0] 2719

\ z

75°

@ 55° @ 65° ® 75° @ 95° ® 105°



oA ThtA] =




O WHBCFE @ WDEF ® WHABED
@ WHACFD ® WABC



6. o= 1HolA LAOB 9 271=? B

O 116° @ 118° @ 121°
42-107—A 2+20°

@ 124° ® 126° * 0 &



7. & IRo1A £COD = 2x, ZAOB = 4x L 1, 4x 9] 7]

A

e
e

®122 Q@i 1 @1 61’



8. oS a1/ mE W, 2x9 272

3:1:+3(p7/
l

+30°

/ m

® 10° @ 20° ® 30° @ 40° ® 50°



D 40°

@ 50°

® 55°

@ 60°

® 65°



]
H
)

)

oA

i

oy
)
o8

N

)

B
)

&
G

ol
i

T

Apole] ]

BB IEEIR
¥ % T T T
2R IZ1EE
© 0 6 0 6



11. o= J™-NA F A4 1 % m 2 A= FaPolrt. 2y - 1x & 2717

® 60° @ 70° ® 80° @ 90° ® 100°



12. o= J2™- F A 1, m ol HAD o, 2, 2y o] #& F51H?

A S

e N

D /x =60° 2y =130° @ /x=60° sy =140°
® zx=60° sy =150° @ /x="70° sy=130°

® 1x=70° Ly =140°



13. ts I8 47715004 BE o ThA] b= A& 25 F-ohd?

A

C



14. o= T2 o A4 ol A 42 A4 7] oot - ol diet

his

[SAN) o
A
[ ]
¢ °F
ok
¢
[ 4
D
O A Mee Are et 2ot
@ WA A 2419 ] F afoltt
@ (A 7Ne)+(Ad29 M) = (A9 A4
@ e Al 10 7Holnz A2 o] 4 10 7folth
© RHAA 9] Alg= 30 7ol



o 19e ASRAE BM =FN o] 5= A
= 72 Holt}. £ e AL :
B
Bol_ o __
// ] 4
7 ____l//
F N G

A2 MD ¢} 242 DH & 4] o]t}.
gajo|ct.
A2l MD 9F A2 AE = 791 9] Qltt.

HW BENM 7 A2 MD = o},

rr

AE] MD ¢F A2 NH

®©@ ® ®©@ ® 6

B BFNM 7 248 DH &= B3jo|c},



